ANUSHKA ACADEMY

SSC MOCK TEST - 162

Part-I : General Intelligence and Reasoning

Hkkx&x : Bkekl; cfYerk ,o0 rd"kfDr

Directions (1-3) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

fun'k (1&3) % futu 1'uk e 1 1R;d 1'u e fn, X,
fodYik e 1 BEcfl/r v{j@"Cn@1[;k dk pfu,A

1. CHMR : DINS :: AFKP:

(A) BLGQ (B) BDLQ

(C) BLQG (D) BGLQ
2. 26 :338::46:

(A) 598 (B) 1058

(C) 1150 (D) 1012

3. Rectangle : Octagon :: Triangle :?

vi;r b V'VHE B fHE %\

(A) Heptagon/ llrHt (B) Hexagon/"\VHt

(C) Cylinder/Cyu (D) Cone/"kd
Directions (4-6) : Find the odd word/letter/
number from the given alternatives.
fun'k (486)% fn; x, fodYik e 1 fo'le "Kn@v{j@
I[:k dk pfu, 4

4. (A) AFL (B) CHN

(C) EIO (D) DIO
5. (A) Rectangle/Vik;r (B) Circle/0r

(C) Cube/%u (D) Triangle/f=Ht
6. (A) 54 B) 56

(€) 55 (D) 53

7. Arrange the following words as per order in
the dictionary.

fuEufyffkr “iCnk dk "iCndk’k e fn, x, @e d vullj
0;ofLFr djA

1. Euphonic 2. Euphasusiid
3. Euphemism 4. Euphenics
(A) 3241 B) 2413
(C) 2314 D) 2341
8.  Which one of the given responses would be

a meaningful order of the following?

futu fodYik e 1 diu&lk fodYr utp fn, g, "iink d
IiFd @e di n"frk g\

1. Print/Nilkb

2. Write/fy[kuk

3. Imagine/dYiuk djuk

4. Publish/1dif*r djuk

5. Proofread/ Igh djuk

(A) 23145 B) 32514
(C) 23514 D) 32541

9.

10.

11.

12.

13.

Rajan is the brother of Amit. Suman is the
sister of Sushil. Amit is the son of Suman
How is Rajan related to Sushil?

jktu vier dk Hib gh Teu Iy dh cgu gA vier
leu dk cVk gh jkeu iy 1 Al Icf/r g\

(A) Nephew/Hktk

(B) Son/ I

(C) Niece/Hikth

(D) None of these/bue 1 dib ugh

Find the angle between the hands of a clock
at 05: 30?

05:30ct ,d %vh dh Ib;k d chp dk di.k Kir
dift,\

(A) 30° B) 15°

(C) 45° (D) 12°

Tomorrow is Monday. Find the day on after
61 days?

dy lieolj gh 61 fnu d cin dk fu Kkr dift,\
(A) Wednesday/c/0lj

(B) Saturday/ "lfuo

(C) Friday/ "l@olj

(D) Sunday/jfoolj

Vivek travels 10 km from his home to the
East to reach his school. After that he
travels 5 km to South to reach his uncle's
shop. Now he travels 10 km to the West to
help his father. How far and in which
direction is he from his home?

food viu Ldy igpu d fy, viu % 1 10 fdeh
1o dh vij pyrk g mld cin] og viu pkpt dh ndiu
rd igpu d fy, 5 fdeb- nf{k.k dh vij tirk gh vc
og viu firk dh Igk;rk dju d fy, 10 fdeh- if*pe
dh vij thrk gh og viu %j 1 fdruh nj vij fdl fn"i
e g\

(A) 10 km North/ 10 fdek mlkj

(B) 10 km West/ 10 fdeh- if"pe

(C) 5 km South/ 10 fdef- nf{k.k

(D) 5km East/5 fdeh- 10

From the given alternatives, select the word
which can’t be formed using the letters of
the given word.

futu fodYik e I ml *iCn dk p;u dj tk fn, x, "iCn
e "Wey v{il 1 ugh cutt t Idrk git
STIMULATION

(A) MUTATION (B) LION

(C) STATION (D) MOUTH
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Directions (14-16) : In the following questions,
a series is given with some terms missing.
Choose the correct alternative from the given
ones that will complete the series:

fun’k (14-16) 4 futufyflkr 1"uk e] ,d vude fn;k x;k
g ftle dN in yir gi fn, x, fodYik e 1 og Igh
fodYi pfu, tk vude dk ijk djh

14. BIO, DKQ, FMS,

(A) GOU (B) HNT

(C) GNO (D) HOU
15. 4,23,60, 121, ..........

(A) 216 B) 212

(C) 220 (D) 224
16. 7,49, 343, 2401, ?

(A) 14406 B) 15605

(C) 16807 (D) 16820

Direction (17) : Two statements are given here
which are followed by two conclusions. You have
to consider the two statements to be true even if
they seem to be at variance from commonly
known facts. You have to decide which of the
given conclusions, if any, follow from the given

statements.
fun'k (17) % ;ok nk dFu vij mid wix nk fu'd'f 1 vij 11
in, X, gh Vkidk bu dFiut ok 1%; eludj foplj djut g pig
o lkell;rk Kkr rF;k 1 fHUu irbr gir gkA viidk fu.k; djuk
g fd fn, x, fu'dk e I diu Ik fu'd' ;fn dib g] Igh yix
ghrk gA
17. Statements/dFu
All Mangoes are Apple
IHh vie Ic g
Some Apples are Birds.
dN Ic ifih g
Conclusion/fu"d"
I. Some Mangoes are Birds.
e iflh gA
II. Some Apples are Mango.
dN Ic vie g
(A) Only conclusion I follows
doy fu'd 1 vulj.k djrk g
(B) Only conclusion II follows

doy fu'd 11 vulj.k djrk g

Directions (18-19): In the following questions,
select the missing number from the given

responses.
fun’k (18-19): futufyf[kr i*uk e fn, x, fodYik e I
yir 1[;k Kkr dhft, A

18.
9ol8]2]4
5796
4144
4960|2228
(A) S B) 3
€ 6 (D) 4
19.

4 12184

A
D

5 12184

an
D

m
s/
(A) 845 (B) 4913
(C) 4896 (D) 2184

20. Find out the figure, which best represents
the relationship among Element, Sodium
and Bronze.

ml vkdfr d p'u dj] tk rio] 1
Ic/ dk e ifrfuf/Ro djrh gh

. B) .
) C}@ (D) @O

21. Which of the answer figure is the right

iiM;e rAk didk d

mirror image of the question figure ?

nh xb mlkj ViNfr;k e | diu It viNfr i*u viNfr dk
Igh ni.k ifrfckc g\

Question Figure/i"u VkNfr

(C) Either conclusion I or conclusion II GIVEN
follows
ok fu'dor skoon vuly.k djrk gh

(D) Neither conclusion I nor conclusion II Answer Figure/mUkj VKNfr
follows o A) NEVID B) NAVIG
urk fu'd' 1 u I nkuk vulj.k djrk gh © MEVIG D) MAVID
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22. In below given dice, how many dots are (A) 200, 160 (B) 160, 200
there on the face opposite to the face with (C) 200, 140 (D) 140, 200
three dots? 25. A word is represented by only one set of
fn, X, futu ikl €] riu MiVI oty ijyd d foijhr oty numbers as given in any one of the
ilyd ij fdru MVI g\ alternatives. The sets of numbers given in
the alternatives are represented by two
¢l classes of letters as in two matrices given
e . below. The columns and rows of Matrix-I are
Tl . numbered from O to 4 and that of Matrix-II
°° are numbered from 5 to 9. A letter from
. . these matrices can be represented first by
v its row and next by its column. E.g., ‘T’ can
A) 2 B) 4 be represented by 31, 76 etc., and ‘N’ can be
(©) 5 D) 6 representgd by.12, 79 etc. Similarly, you
23. Find out the figure in which question figure have to identify the set for the word
is hidden? ‘MANALF".
ml mlj&vidfr dk pfu, ftle iu&wvidfr fufgr g\ ,d “iCn oQoy ,d I[;k&heg Hjk n;k x;k g] tlk
Question Figure/i'u VINfr fd fodYike I fdlh ,d e fn;k x;k gA fodYik e fn,
X, I[;&heg v{ijk d nk oxk Hjkn"k, x, g] thk fd
; hp fn, x, nk vi0;g e gh vi0;g&1 d LrHk vij ifDr
i I[ ol 4nixbg vl vio;g&rdh 5 1 94 bu
vil;o 1 ,d V{j dk igy mldh ifdr vij cin e Ler
Answer Figure/mlkj VINfr 0[5 hvi Hgkon ™k k Idrk gh mnigj.k d fy,] T d
31,76 an} t Idrk g rilk N dk 12,
79 viin Jgk n®lk;k Idrk gh fn; X, “iCn ‘MANALI’
d fy, leg di |gpkuuk oA
(A) (B) (©) (D) Matrix/VK; »0-1 Matrix/ VK -0-1I
24. Some students are divided into two groups 0|1|2|3]4 5/6[7]8|9
fh& Qt.hIf 20 s;uder;tstaze an"( frornhP to Q, olglIVvIElAlC S5IRIEIOINIG
en the number of students in each group
will be the same, but if 40 students are sent 1| RIOIN|GIL 6/N|PIVIEL
from Q to P, the number in P is double the 2IMNE|L|I TIM|T|T|O|N
number in Q. Find the number of students 3|O|T|T|T|A| |8]E|A|I|C|O
in each group P & Q. 4|N|L|IN|E|P 9|N|T|A|R|L
dN Nk dk nk Ieg P rfk Q e civk turk g ;fn (A) 76, 86, 12, 34, 68, 77
P 1 Qe 20 Nk th ] ricnfuk Tegk e cjicj (B) 75, 86. 12, 86, 68, 24
Nk:k ok t,x] fdur ,fn 40 NiZk dk Q 1 P e Hith t,] (C) 75, 86, 21, 34, 99, 24
rk P dh B[ ;k Q d I[' nkxuk gk t,xth leg P (D) 20, 86,21, 43,79, 24
PRl Q d Niek o B[k o ek i, A
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Part-II : General Awareness
Hkx&rr = Bkeld; tkudkjh
26. Which one of the following causes rainfall [ 30. India's first Aquatic Rainbow Technology
in the North-Western parts of India during Park (ARTP) will be set up in which city?
winter season? ‘ Hijr ok igyk ,DoifvVd juct VDukykth ikd (, vij\hin)
futufyf[kr e 1 "ir Y%r e Higr d mlijh 1f*peh Hix fdl “igj e LFUfir fd;k €, x\
e o'k di D;k dij.k g\ (A) Vishakhapatnam/fo"lk[lkiVue
(A) Cyclonic depression/p@olr volin (B) Kochi/ difPp
(B) Retreating monsoon/ 1IN gVr elulu (C) Chennai/plub
(C) Western disturbances/ if*pel mino (D) Mumbai/ eEch
(D) South-West monsoon/nf{i.I&if'pe efulu | 31. Which committee has recently
27. Which company is the most valuable brand recommended several measures for de-
in India, according to recently released siltation of River Ganga?
2017 Brand Finance India 100 report? fdl Ifefr u gty gh e xxk uni d xi< dh flpib d fy,
2017 ghy gh e tijh di xb olh oM iQbull bk 100 vud nit: di fHit6* ch o\
fiilv d vulij] Hijr dh diuglh diuh el Tini ) K S S Banerjee committee
eY;olu ciM g\ d 1,1 cuth Ifefr
(A) Tata Gr01:1p/ Vivk Teg (B) Mukesh Sinha committee
(B) Airtel/,;jVy ed"l fllgh Hfefr
(C) LIC/,Y ka_ If (C) J P Nadda committee
(D) Reliance/fjyk; | il uMMk Tefr
28. Under the administration of which one of (D) Madhav Chitale committee
the following is the Department of Atomic el/o fpry Iefr
Energy? 32. Which one among the following gases
ijek.k mitk foHkx futufyf[ir e 1 fdl 1*iklu d rgr readily combines with the haemoglobin of
vikgh the blood?
(A) f;;afé?khl‘élk{lgfers Office jor d glellylfcu e futufyf[ir e 1 dhuglh xIk
(B) Cabinet Secretary feldr gt tin g\
dfcuv Ifpo (A) Methane/ehFu
(C) Ministry of power (B) Nitrogen dioxide/ukoVktu MibwiD IkoM
fon;r estty; (C) Carbon monoxide/dkcu MbwiD IkoM
(D) Ministry of Science and Technology (D) Sulphur dioxide/ 1Yi{j MbviD1ibM
foKiu vij iin; fixdh e=ty; 33. Which one among the following is an
29 Which of the following Acts introduced example of chemical change?
communal electorate in India? — . .
Hijr e futu e 1 Tl vi/fuze u Minif;dl erniriv ;“\E“fyf[kr e I duéli ,d jifud ifjoru di mnig) |
i 'k:Vk.l’ dh g\ . (A) The melting of an ice cube
(A) Indian Council Act, 1861 vibl D;c ol fidyu
Hijr; ifj'in vi/fuse, 1861 v R
(B) Indian Council Act, 1892 B) T\xe Zoklhng Ef gasoline
Hijr; ifj'in viZfuse, 1892 iy di mcyu
(C) Indian Council Act, 1909 (€) The frying of an egg
Hijr: ifj'n Vi/fuze, 1909 vMderyw _
(D) Government of India Act, 1919 (D) Attraction of an iron na{l to 8.1. magnet
Hijri; ifj’n vi/fuse, 1919 ylg di dhy di ped di vij vid'.|
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ANUSHKA ACADEMY

34

35.

36.

37

Consider the following parts of spectra
LiDVk d fufu Hixk ij foplj dlift, A

1. Visible/n";elu

2. Infrared/bli{jijM

3. Ultraviolet/VYVkok;kyV

4. Microwave/elbdk rjx

Which one of the following is the correct

sequence in which their wavelengths
increase?

rjx né; d c<r @e e futufyf[ir e 1 diu&lk Je Igh

o\
(A) 4-3-1-2 B) 4-1-2-3
(€) 3-2-1-4 (D) 3-1-2-4

The translator program used in assembly
language is called -

vicyh Hi'k 15k fd; tiu oky vuoind tkxke dk D;k
dgk thrk g\
(A) Compiler/dikby]j
(B) Interpreter/bVjiVj
(C) Assembler/VIcyj
(D) Translator/vuoind
Pochampally in Nalgonda district of
Telengana became famous in April, 1951
because
Viy 1951 e] ryxiuk d ukyxdMk fey e ikperYyh
il dij.k if1% gvi\
(A) The Bhoodan movement was launched
there by Vinoba Bhave
foukok Hko u ogk Hinku vinkyu wijH fd ;k FiA
(B) The landless peasants rose up in arms
against the landlords

Hfefgu fd liu HLolfe Ik d foz% L% ydj mB
[M g, Fil

(C) It witnessed violent anti-Hindi
agitation
2ok fghd fgnh foji/h vinkyu n[i x;k Fid

(D) Silk weavers' cooperative was formed
for the first time in India

Higr e 1gyh ¢ j'le cudj lgdifjri dk xBu gwviA
Which one of the following countries is land
locked?

futufyf[kr e 1 diu&lk nk Hfexr g\
(A) Bolivia/ckyifo;k (B) Peru/i:
(C) Surinam/ ljiuke (D) Uruguay/mj:¥o

38.

39.

40.

41.

42.

With reference to inflation in India, which
of the following statement is correct?

Hijr e eniLitifr d InH e futufyf[kr dFuk ij foplj

dift, A

(A) Controlling the inflation in India is the
responsibility of the Government of
India only.
Hijr e eniLiQfr dk fu;fkr djuk doy Hijr
ljdkj db fefentjh gt

(B) The Reserve Bank of India has no role
in controlling the inflation.
Hijr; fjto cd di enLihfr dk fu;f=r dju e
dib Hifedk ugh gh

(C) Decreased money circulation helps in
controlling the inflation.
euh Idy*lu dk de dju I eniLilhfr e Igk;rk
feyxi

(D) Increased money circulation helps in
controlling the inflation.
euh Idy*fu dk c<u I eniLilhfr dk fu;f=r dju
e lgk;rk feyxi

Which one of the following is not an

enzyme?

futu e I diu&lk ,d ,tibe ugh g\

(A) Ptyalin/V;ifyu (B) Pepsin/ifllu

(C) Trypsin/Vfllu (D) Oxytocin/VIDINVflu

Tallest tree is:

Icl cMk iM ghé

(A) Deodar/nonlj  (B) Eucalyptus/ulyfxih

(C) Sequoia/fldib;k (D) None of these

bue 1 dib ugh

When a running car stops suddenly, the
passengers tends to lean forward because of:

tc ,d pyrh gb dij vplud -d t,] rk ;K fdl
dij.k vix dh rjiQ >d tir g\

(A) Centrifugal force/vidinh cy d dij.k
(B) Inertia of rest/fLRjrk dh tMrk d dij.k
(C) Inertia of motion/Xfr di tMrk d dij.k

(D) Gravitational force/X -Rokd"f.k d dj.k
When two goods are completely
interchangeable, they are

tc nk oLr, ijh rjg 1 fofu;e gkrh g] ri o dgyirh
o\

(A) Perfect substitutes/vudy foLFkiu

(B) Perfect complements/vudy ijd

(C) Giffen goods/Xi(u oLr,

(D) Veblen goods/0CyU oLr,
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43.

44

45

46

Anshu Jamsenpa has become the world's
first woman to scale Mt Everest twice within
S days. She hails from which Indian state?
Vvl te'llik ikp fnuk e nk clj eim}v ,ojLV 1j thr
oifly dju okyh nfu;k dh 1gyh efgyk cu xb g] og
fdl Hjr; jiT; 1 g\

(A) Mizoram/fetije

(B) Manipur/ef.kij

(C) Assam/Vle

(D) Arunachal Pradesh/V:.lpy in
Which of the following Articles cannot be
suspended during the national emergency?

futufyf[kr e 1 diu&l vuPNn ji'Vh; wiikrdly d
nkjku fuyfcr ugh gir g\
(A) Article 14 and 15/VUPNN 14 Vij 15
(B) Article 19 and 20/VUPNn 19 Wij 20
(C) Article 21 and 22/VUPNn 21 Vij 22
(D) Article 20 and 21/VUPNN 20 Vvij 21
An important river of the Indian desert is
Hijr; jfxLriu dh egrol.k unh g&
(A) Luni/yuh (B) Narmada/uenk
(C) Krishna/d".lk (D) Beas/0;kl
Amniocentesis is a technique used-
mYoo/u rduhd dk i;kx fd;k tirk g&
(A) To determine the sex of fetus

Mk d fyx fu/ij.t dju d fy,
(B) To test of amino acid

Jfeuk ,fIM di tip dju d fy,
(C) To test brain

eflr'd dh tip dju d fy,
(D) None of the above

bue 1 dib ugh

47.

48

49.

50.

How many pints of blood are in the human
body (average weight)?

eluo “kjhj e (vklru otu) fdru 1V jDr grk g\
(A) 10 pints/IlV  (B) 20 pints/ ikblV

(C) 40 pints/I0lV (D) 50 pints/ iV
Regarding the atom of a chemical element,
the magnetic quantum number refers to-

jklk;fud rRo d ,d 1jel.k d Ic/ e pcdh; Dolve
Ik n™rk o\

(A) Orientation/fn"ifun"k

(B) Shape/Vvidij

(C) Size/ifj.lke

(D) Spin/>dio

The controlling authority of government
expenditure is the

Ijdigh [¥Pk dk fu;fr dju dk vi/Zdkj g&

(A) RBI/Hkjr; fjto cd

(B) Planning Commission/ ;ktuk V;ix

(C) Finance Ministry/folk edty;

(D) Finance Commission/folk Vi;kx

The name Dharmashoka was found in the
/ellkdk uke fd 1 fkyky [k e fy [l x;k g\

A) Maski Edict/ellLdh f*kyky [k

B) Junagarh Inscription/tuix< f*kyky [k

C) Sarnath Inscription/ IjulFk f*kyky [k

D) Allahabad Pillar Inscription/byigcin LrHk

Plyty [t

(
(
(
(

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com

Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152 Ajmer-7340019191, Kankroli-7229922209




Part-I11 : Quantitative Aptitude
Hkkx&rar : ekkiled viH{kerk
51. G is the centroid of an equilateral AABC. | 56. If the difference between compound
If BC = 14 cm, then find the length of AG? interest and simple interest of any sum for
G ,d lecig AABC di dind gt ;fn BC = 14 lel 3 years at a rate of 12% is ¥ 224.64, then
g, rkAG dh yEcib Kir dift,\ find the principal.
L €, -fn I jif*t ij pdofs C:it vij IW/ij.t Czkt d dip
(A) 3 em/Hek(B) 5 cm/l€k dk vrj 12% dinj I riu o't d fy, pdofy C:it
14 7 wvij IiZlj.k C3ke d chp dk vrj % 224.64 g] i
(@] % cm/ leh D) ﬁ cm/ el ey/U Kir dift,\
52. The distance between P and Q is 850 km. (A) 6000 (B) ¥ 5000
Two persons A and B started toward Q and P (C) 8000 (D) ¥ 10000
frgm P and Q simult:aneously - The speed of | 57 Two vessels contain mixture of water and
Ais 35'kmph an.dB‘ls 50 kmph. They meet milk in the ratio of 4 : 7 and 2 : 5
at a point M which lies on the way of P and . .
Q. Find PM : MQ? respec.tl.vely. The ratio of the volumes of. the
Pvij O d cip di njh 850 fdel gh nk 0;Dr A Vij quantities from the two vessels 'to be mixed
B,d IR P rik Q I 0 Vij Pdh rji) vir gt A db together, so thj‘t the Jew let;re_lr;aY
xfr 35 fdel- ifr 2V vij B dh xfr 50 fdel- ifr %k Ckontakm S_Trhle ‘;f “/mgk° Wi‘ e; arkl mt )
gt o ,d fcln M ij feyr g t PVij Q d jiLr ij Nk cruk e Buh ri /- di vullr @' 4. 7 1F
fLFir gh PM : MQ Kir dift,\ 2:5¢ nuk cruk d fed.k dk fd1 wvuikr e feyik;k
(A) 7:10 B) 10:7 th, fd u, fed.k e ikuh rRik n/ dk vi;ru lelu g
(C) 3:5 (D) 5:3 (A) 11:7 (B) 7:11
53. The average of 9 numbers is 30. The (C) 3:7 D) 7:3
average of first 3 numbers is 31.5 and that _ 3
of next three numbers is 25.5. If 7th 58. Ifx=101, then find the value of x (x’ - 3x + 3)
number is less than 8th and 9th number ;i x=101g] rt x (- 3x+3) di elu Kir dift, &
by 4 and 5 respectively, then find 9th (A) 1000000 (B) 999999
number" (C) 1000001 (D) 1010101
9 I[;kv vklr 30 gh lgy f u ;v VKIr | 59. If each interior angle of a regular polygon
31.5 ka vxy rhu B[ ;kvk dk vilr 25.5 gA ;fn "
70 I[ ;1] 8oh rFik oon I['k | Qe'k% 4 vij 5 de of] is 128, then it is a -
r ooh I[;k Kir dife,\ _ _
(A) 34 (B) 35 ;in,d fu;fer cghit dk 1R;d wvirfjd di.k
(C) 30 (D) 32
54. Comlete the following series. 1287 g] 0, d - g\
fuEufyfkr J[kyk dk 1jk dj&
14, 8,9, 14.5, 30 ? (A) Octagon/V'VHt (B) Decagon/nlHt
(4) 61 (B) 76 (C) Hexagon/"WHt (D) Heptagon/lIrft
(©) 75 (D) 65 60. The selli i f ticle is ¥ 304, th
55. If a cos®0 + 3a cosf sin%0 = m and a sin®0 + ) € se. ng pr1ce.: ot an a;‘ ce 1.s ) , taen
3a cos20 sin® = n, then find the value of there is a profit of 52%. If it is sold for
(m+n)?? + (m-n)?/3? ¥ 250, then find the profit percent?
;N a cos®0 + 3a cosb sin?0 = m VIj a sin®0 + ;i ,d oLr dk fo@; eY; Z 304 g] rk 52% dk yiHk
3a cos?0 sin6 = n gf] 1 (m+n)?° + (m-n)>° dk girk gA ;fnml 2 250 e cpk t,] rk yidk ifr*kr Kir
elu Kir dift,\ dift,\
(A) a3/2 (B) a2/3
(C) 2a%2 (D) 2a%3 (A) 50 B) 25
(C) 30 (D) 20
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fun "k

dift,

[k ij ,d o d [iPk

Directions (61-63) The given pie chart have
shown the spending of a country on various sports
during a year. Study the graph and answer the
following questions.

i-1- (61-63) fn, X,
fnl;k

1) ka e fdlh n*k e foftlu
ko gh bl xki) dk wve;;u

wij fukufyf[kr 1"uk d mUkj nhft;A
Tenms/ | Golf/XYil
10% | 12.5%
o e
10% 12.5%
F Ball
Cricket/ O?Q%/Ck; /
fadv 15%
25% Hock
pril
15%

65.

(A) 60 kmph /fdeh-§AVk
(B) 40 kmph /fdeh-§AVk
(C) 50 kmph /fded-i%Vk
(D) 45 kmph /fdeh-§%Vk
Jitender started a business investing
¥ 55000. After 2 months, Khushiram joined
him with a capital of ¥ 65000. After another
S months, Anuj joined them with a capital
of ¥ 40000. At the end of the year, they made
a profit of ¥ 151000. What is Anuj's share
in it

ftrin u ¥ 55000 d fuo®k d Nk ,d 0;kikj WHjEHK
fd;lA 2 eghu cin] [k*hjke T 65000 dh jif*k d BkF
mid LiF "lfey gk tirk gh vxy 5 egiu cin] vut
240000 di jif*k d 1iFk mud 1iFk ey g thrk gh
o't d vr e] mlg ¥ 151000 dk yiH ikir gvid ble

vut dk fgLlk fdruk g\

Q

K
|

61. What is the central angle for the Golf? () 325000 (B) ¥20000
xiYil d fy, dinh; di.t D3k gixih (€) 330000 (D) ¥ 40000
. . 66. A and B can do a piece of workin 15 days, B
(A) 54 B) 45 o
C) 36° D) 48° and C can do it in 12 days and C and A can
(© (D) . do it in 10 days. In now many days will B
62. If the total amount spent on sports during Sy
! finish it alone?
the year was ¥ 15,000,000, then find the .

. ArFk B ,d die dk 15 fnu e vij B rflk ¢ mlh die
difference between the amounts spent on - ) -
Cricket and Golf? di 12 fnu e vij c vij Amlh die dk 10fhu e dj
;fn 0% d nijlu [kyk 1j [ip dy jif*k 15,000,000 Idr gA rk B vdyt ml die dk fdru fnu e [Re
g] rk f@dV rFik xiYi) ij [Pk dh xb jif*k;k d chp djxi\
dk vrj Kir dift,\ (A) 20 days/fnu (B) 30days/fnu
(A) ¥ 2000000 (B) ¥ 1875000 (C) 40 days/fnu (D) 60 days/fnu
(C) ¥ 1975000 (D) ¥ 1800000 67. The profit earned by selling a fan for ¥ 900

63. If the total amount spent on sports during is double the loss incurred when the same
the year was ¥ 12000000, how much is sold for ¥ 450. At what price should the
amount was spent on basket ball. fan be sold to make 25% profit?

;i o' d niiu [kyk i [P dy jif*k % 12,000,000 d i[l di 900 e cpu ij yiH] z 450 e cpu ij
g] ri citdvely ij fdrun jif* [ dh xb\ ghu okyh gifu dk nxuk gh 25% dk yiH ikir dju d
(A) ¥ 1500000 (B) ¥ 1200000 fy, i[k dk fo@; eY; D:k giuk pifg,\

(C) ¥1600000 (D) ¥ 1800000 (A) 750 B) %720
64. In a journey of 180 km, a train covers the
C) 600 D) 900
distance of 120 km at a speed of 80 km/h (©) (D) .

. ) 68. If x cosecO = y sech, then find sin6 — cos6?
and the remaining distance at 40 km/h. - B fsi Kir dift.\
Find the average speed of train for the whole ;M x cosech = y sech ] M sin6 — cosd Kir ’
journey. x-y
180 fdeh- dh ;K e] ,d Vu 80 fdeh-i%Vk dh xfr 1 A) x-y B) 3+ y?

120 fde di njh r; djri g vij "f% njh 40
fderiaV dh xir 1 r; djr gh ijh sk d fy, Vu d y-x x+y
©) Je+yr D) z_.2
vilr xfr Kir dift,\ Y Y
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69.

70.

71.

Ifa:b=4:5andb
as:bd:c®*?
fna:b=4:5Vifb:c=7:69¢] rt
a®: b cedhelu Kir dift,\

(A) 28:35:30

(B) 21952:42875:27000

(C) 784 :1225:900

(D) None of these/bue I dib ugh

A right angle triangle of sides 3 cm, 4 cm
and 5 cm is rotated along the side of 3 cm
to form a cone. Find the volume of cone?

3 leh] 4 lek rAk 5 Beh- Hethvk okyh ,d Tedk.k
f-Ht dk 3 el okyh Htk d phjk rji %ek dj ,d
d cuk;k thrk gh "kd dk vk;ru Kir djA

(A) 16 tcm3/leh=  (B) 12 ncm?/ lehs

(C) 20 tcm3/leh* (D) 15 ncm3/ lehs

:c=7:6, then find

. .. cosA cosB cosC
In a triangle ABC, if a = 5 = S

then triangle is :-

cos A

d HiHE ABC ] 3fn <25 - cosB _cosC

5 ]

rk f=HE g %&

(A) Right Angled Traingle/ ledk.k fHt
(B) Equilateral Traingle/leclg fHt
(C) Isosceles Traingle/ledi.k fAHt
(D) None of these/bue | dib ugh

72.

73.

74.

75.

Simplify the equation
(0.57)* +(0.43)°
(0.57)" +(0.43)" —(0.43)(0.57)

(0.57)* +(0.43)°

(0.57) +(0.43) - (0.43)(0.57) 9y T
(A) 1 (B) 0.43
(C) 0.57 D) 0

A and B can do a piece of work in 15 days ,
B and C can do it in 20 days. If C alone can
do it in 30 days, then how many days A alone
do the work.

Arfk BfdIh die dk 15 fnu e rRk B vij C mlh die
di 20fnu e dj Idr gA ;fn c vdykml 30fnhu e
dj Idrk g] ri A vdyi die dk fdru fnu e djxi\
(A) 20 days/fnu (B) 30 days/fnu

(C) 60 days/fnu (D) 40 days/fnu

Iis the incentre of AABC. If ZABC = 80° and
Z ACB = 60°, then find £ BIC?

I, AABC dk vrikdin gh ;fn ZABC = 80° rFi
Z ACB = 60° g] rt « BIC Kir dift,\

(A) 70° B) 120°

(C) 100° (D) 110°

If the radius of circle is 14 cm, then find
the difference between circumference and
diameter of circle?

sfn olk dh f=4T;k 14 Net- g] rk olk dh ifjf/ rFk 0;K1
dk vrj Kir dift,\
(A) 30 cm/leh
(C) 60 cm/leh

(B) 20 cm/ el
(D) 50 cm/ lel-
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Part - IV (English Language)

Direction (Qs.76 - 78): In the following

questions, some part of the sentences have

errors and some are correct. Find out which part
of a sentence has an error and blacken the oval

[®®] corresponding to the appropriate letter (A),

(B), (C). If a sentence is free from error, blacken

the oval corresponding to (D) in the Answer

Sheet.

76. Advertising enables the public to know
(A) / the value of what they are far better
(B) / than did the people of the past.(C) / No
error(D)

77. She calls them whenever (A)/she is
travelling to asure (B)/them that she is
alright. (C)/ No error.

78. He has been (A)/ elevated in position
(B)/ as a result of his diligence and
integrity. (C)/ No error (D).

Directions (Qs 79-81):The sentences given with
the blanks are to be filled with an appropriate
word(s). Four alternatives are suggested for
each question . Choose the correct alternative
and indicate it by blackening the appropriate
oval in the Answer Sheet.

79. Hehasa tongue; his pinching sarcasm
has alienated everyone who has come into
contact with him.

(A) wanton (B) vitriolic
(C) pungent (D) recalcitrant

80. I am always the first to admit that I have
not accomplished everything that I
achieve five years ago.

(A) set out to (B) went to
(C) thought to (D) thought of
81. My mother upset the kettle of boiling water

and her hand.
(A) scalded (B) scolded
(C) scorched (D) wounded

Directions : In question no. 82, out of the four
alternatives, choose the word which best
expresses the meaning of the given word.

82. Predominantly
(A) Emphatically  (B) Forcefully
(C) Mostly (D) Profoundly

Directions : In question no. 83, out of the four
alternatives, choose the word opposite in
meaning to the given word.
83. Revelation

(A) Rejection

(C) Concealment

(B) Elimination
(D) Introduction

Directions : In question nos. 84, four words are
given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find
the word spelt correctly/wrongly and mark your
answer in the Answer Sheet.
84. (A) Clandistine (B) Clandestine

(C) Clandistene (D) Clandestene
Direction : In Question nos. 85 to 87, four
alternatives are given for the Idiom/Phrase in
bold in below sentences. Choose the alternative
which best expresses the meaning of the Idiom/
Phrase and mark it in the Answer Sheet.
85. Old head on young shoulders

(A) To be intelligent when old

(B) To be old and yet look young

(C) To be wise beyond his years

(D) To be smarter with age.
86. To talk through one's hat

(A) To talk carefully

(B) To talk softly

(C) To talk nonsense

(D) To talk secretively
87. Make up (the) leeway

(A) Struggle out of a bad position, especially

by recovering lost time

(B) Persistently be present somewhere

(C) A substantially improved prospect of life

(D) Fail to interest someone
Direction (Qs. 88 — 92): In the following questions,
a part of the sentence is underlined. Below are
given alternatives to the underlined part at (A),
(B), (C) which may improve the sentence. Choose
the correct alternative. In case no improvement
is needed your answer is (D). Mark your answer in
the Answer sheet
88. When it was feared that the serfs might go

too far and gain their freedom from serfdom,

the protestant leaders joined the princes

at crushing them.

(A) into crushing

(B) in crushing

(C) without crushing

(D) No improvement
89. I want to admit in a university in the U.K.

(A) enroll (B) enter

(C) go (D) No improvement
90. Realising is the significance of technical

education for developing country, the

government laid aside a large sum of it

during the last plan-period.

(A) laid up (B) set aside

(C) laid out (D) No improvement
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91. Africa is in the south of Europe.

(A) by the (B) over the

(C) to the (D) no improvement
92. To get one's name in the Rowland Ward's

book of hunting records was the hot

ambition of every serious hunter.

(A) extreme (B) burning

(C) high (D) No improvement
Direction (Qs.93 to 96): In the following
questions, out of the four alternatives, choose
the one which can be substituted for the given
sentence.

93. Something absolutely indispensable or

essential

(A) coup d'état (B) joie de vivre

(C) sine qua non (D) fait accompli
94. Sudden and violent change

(A) Cataclysm (B) Catalysis

(C) Catacomb (D) Catechism
95. Sum of money to be paid for freeing a person

from captivity.

(A) Compensation (B) Ransom

(C) Tribute (D) Penalty
96. A mentally unbalanced person

(A) Nutjob (B) Pusillanimous

(C) Sepulchre (D) Sarcophagus
Direction (Q. No- 97 - 100) : In these questions,
A passage is given with 4 question following
it. Read the passage carefully and choose the
best answer to each question out of the four
alternatives.

Nobody can argue that the acquisition of
knowledge is more fun and easier with
computers. The mere activity of touching and
exploring this device constitutes an enjoyable
task for a child. This, accompanied by the relaxing
attitude and software interactivity, usually
contributes to a better grasping of new knowledge.
At a higher educational level the availability of
digital books, simulators and other academic
materials provide the student with an ever
accessible source of information, that otherwise
would not be at hand. But, besides the increasing
complexity and behavior of intelligent software,
which is usually embedded in the academic
digital material, the need for human interaction

in the learning process will always be present,
at least in the foreseeable future. There is the
necessity for a human being to be able to
determine what the specifics needs of each
individual are. A computer, no matter how
sophisticated its software is, can hardly mimic
the expertise of a teacher in how to explain and
adapt complex concepts to different individuals.
97. According to the author, human

intervention will always be required in

order to

(A) built bigger machines

(B) update old software

(C) repair broken down machines

(D) determine the specific needs for the

individual

98. According to this essay, what new

developments in the world of computers

have helped students gain more access to

information-

(A) Availability of printing facilities

(B) Availability of word processing
applications
Availability of digital books
Availability of general knowledge
software

©€)
(D)

99. What other factors related to computers
contribute to a deeper acquisition of
knowledge?
(A) User
accessibility

(B) Convenience of usage and design

(C) Relaxing attitude and software
interactivity

(D) Prompt response and accuracy

100. That computers make learning easier is a

fact-

(A) accepted by all

B) welcomed by all
rejected by all
contested by a few

friendliness and easy
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